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I. Read the question carefully and circle the correct answer. 

 
1. 9 + 9 + 9 + 9 + 9 + 9 + 9 is the same as ____________. 

  
a. 9 + 7                           b. 7 x 9                            c. 9 × 9                        d. 6 x 9 
 

2. If 7 × 8 = 56, then 70 × 8 = ___________. 
 

a. 5600                           b. 506                              c. 560                          d. 56 
 

3. 7 pens are put in a pen stand and there are 9 such pen stands. How many pens are there 
in all? 
 
a. 63                              b. 64                                c. 65                           d. 69 
 

4. The product of '0' and any number is __________ . 
 
a. 0                                b. 1                                 c. 2                             d. 3 
 
 

II. Using the properties of multiplication solve the following. 
 

a. 15 x 1 = ___________. 

b.  9 x 11 = 11 x __________. 

c. 12 x __________ = 0 

d.  9 x 4 = __________ x 9 

e. 33 x 0 = ___________ 
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III. Multiply the following numbers and write the product in the space provided.                                                                            
 

a. 7 x 7 = b. 6 x 8 =  c. 3 x 9 = 

d. 33 x 2 =  e. 11 x 2 = f. 6 x 10 = 

g. 30 x 3 =  h. 5 x 100 = i. 15 x 300 = 

 
 

IV. Arrange the following and multiply. 
 

a. 62 x 4                                                            b. 110 x 5 
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V. Solve the following story sum. 
 

a. John bought 7 packets of biscuits. If each packet had 40 biscuits, how many biscuits did 
he buy? 
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